10 VE 10'UN KRAT1 OLAN SRYILARLRA CARPMA

o Asagidaki carpma islemlerinin sonuclarini kisa yoldan yapiniz.

2510 = . 5 %10 = 810 = . 9 %10 = o
1310 - | 2450 - | 35 %10 - | 3610 - |
42 %10 = | {38 %102 | | 26x10 | {35 %102
9 %100 = ... 2 %100 = oo 8 x 100 = ... 4100 = .

x 6= 60 x16= x35= x24=
x 9= x27= x4 7= x20=
x O= x32= x77= x33=
x 3= x85= x62= x98=
x99= x14= x16= x36=
x50= x30= x52= x4-8=
x39= x4 1= x58= x66=
x72= x63= x75= x81=
x15= x54 = x97 = x 7 =
x10= x3 1= x84 = x4 /=
x69= x57= x#3= x36=
x93= x38= x13= x 8 =
x 0 = x 1= X2 = x 1=
X2 = x 3 = x 0 = X2 =
X 4 = 5= x4 = x 0 =
x 6 = 9= X3 = X3 =
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